Physics I Exam 2 180 points Name Discussion day/time

Part I. Questions 1-10. 8 points each. Multiple choice: For full credit, circle only the correct answer. For half credit, circle the correct answer
and one incorrect answer. For % credit, circle the correct answer and two incorrect answers.

1. When plugged into a typical 110 V electrical outlet, a particular light bulb has a standard operating power of 100 W. If the same light bulb is put in a
different circuit, you find that the bulb operates with a current that is one half of its standard operating current. The power drawn by the bulb in this circuit
is approximately

a. 20 W

b.25 W

c.33W

d. 40 W

e. 50 W

2. Two pieces of copper wire have the same length, but wire A has a square cross section of width s whereas wire B has a circular cross section of
diameter s. Which of the following statements is true? //

a. The resistance of both wires is the same. /

b. The resistivity of both wires is the same. D

c. Both the resistance and the resistivity of A and B are the same. A

d. The resistance of A is greater than that of B.
e. The resistivity of A is greater than that of B.

ible internal resistapCe. If resistor R_is removed from the circuit, the

[Bwli T Hrou
bq'Ht‘rY ol\anaea', >

3. Resistors R and R = 2R are connected in parallel to an emf source that has negli

a. increase by a factor of 1.5. | R‘L
b. increase by a factor of 2. __jw'—-vj
c. decrease by a factor of 1.5. \/
d. decrease by a factor of 2.

e. None of the above; we-need-to-know-the-emf-vatne.

current through R would

\/

= Po-}m-]ial atfos< R, doesn? __cgggi ¥ for

4. A resistor of resistance R, a capacitor of capacitance C, and a'dqttery with emf € are all connected in series. The capacitor achieves a certain maximum,
charge after a long time. Another circuit is identical except that it resistors of resistance R in series. The maximum charge on the capacitor in this

second circuit would be as that in the first circuit. b d'”‘ 5 ’.’ u a-‘_‘- FYRS
a. twice as large

s T,2RC Tzare S0 AMciteuit fakes longec 4o chagge (but fnd

d. four times as large C"\ﬂfﬂe 18'S ']'i” Q =C/V>

e. one fourth as larce
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Q)= cV(l-e~Tarc)y

5. An elastic, conducting loop of wire carrying current / is placed on a horizontal table. As viewed from above, the current is circulating clockwise. If a
uniform magnetic field was introduced pointing straight up out of the table, the loop would
a. slightly expand.

F=TLXBDF always po’m‘l's INwayd

¢. remain the same size.
d. reverse its current direction.

e. None of the above.
Lenws Law/FamAa\{s La

1

S”\TW\\(S IN g¢der o mamium a
6'7\61“ P’W

6. Four long parallel wires each with current I (co 'ng out of the page) are symmetrically arranged as shown. The force on wire A is directed
a. to the left
o the right

c.u ( %F 5 9\
d. dr(’)wn .an

e. none of these

-/ N

7. A long wire carries an electric current into the page. What is the direction of the magnetic field due to he current, north of the wire?
a. north

C. west

d. south

e. out of the page

f. into the page

S

\/
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8.A metallic weight is suspended from a metal spring. If now a current is passed through the spring,
~the spring will contract, raising the weighy.

b. the spring will elongate, lowering the weight.
c. the weight will not move.
d. whether or not the weight moves up or down depends on what the weight is made of (i.e. whether or not it is magnetizable).

e. None of these is correct. BU,"— (CMQMhr: oﬂ“l %e_ OM"‘P( L ‘OGPs will OO’!’UQ”\{ (Uﬂ'}ﬂl(.""

(1)
oJoYe)

9. An airplane is in level flight over Antarctica, where the magnetic field of the earth is mos\IPy directed upward, away from the ground. As viewed by a
passenger facing toward the front of the plane, which wingtip is at a Rjgher potential?
a. the left wingtip

c. both wingtips would be at the same potential ><

d. It depends on which direction the airplane is flying.
e. None of these is correct.

¥

10. Two separate circuits wrap around a metal bar. Just after the switch is closed, how do the currents /, and /, flow through the resistors R and R,?
a. I, flows to the left, 7, flows to the left
b. £ tlows to the left, 7, flows to the right [\ A N
c. I, flows to the left, 7, is zero \ \
d. 1, flows to the right, 7, flows to the left L
e
f.
g

Vol V
. 1, flows to the right, I, flows to the right |

I, flows to the right, I is zero +

. 1, is zero, I, is zero

T
]/\ \/’\\/ % W&
R R

2
Page 3 of 7



Part II. Short answer/sketch. Answer questions 11-14 as completely as possible. Show your work to earmpartial credit! /_

11. (25 points) I E _Y-i
Two long straight wires carry equal but opposite currents along the z-axis (perpendicular to the pag¢) as shown. Q & ®
(o , X
(S
¢ ——— | ——r
d d

a) At what point on the y-axis is the total magnetic field B produced by the wires largest? What is its value
B_ there, expressed in terms of i , d, and anything else you need? What is the direction of B at this point?

m:

y where B is maximum=___(j¥) 5 N

direction of B there: i:‘\—
Bmaxz—aLdu)sT——
Rwd

b) A conducting wire loop with its axis along the y-axis is lowered at constant speed down the y-axis, as shown. Sketch the current / induced
in the loop as a function of time, for -co<t<+oo. Assume that the loop crosses y=0 at =0, and that a positive current corresponds to
counterclockwise current flow as viewed from above the loop. (just sketch the shape; you don't need to labe 'flrticular vaPBigs kketch here

Ay
S
i ¢ . i
- SO
X
4“—r4—>
d d °
NeS, 0pposes he R : o)
c¢) Does the loop feel a force as it moves toward the wires from above? & .R “;“3 [ 00 P
d) If you answered "yes" to d), how is this force produced, and what is its direction?
If you answered "no" to d), explain why the loop feels no force. @

|'ve 'njnOred the other two
occes, hece snce they ae smallerpace 4 of7



12. (25 points)

The circuit below contains four resistors and
a. Circle the relations that are always correct

b. Combine R, and R, into one equivalent resistor. Call this R,,.

c. Combine all the resistors into one equivalent resistor. Call this R

d. Compute /, in terms of R, R, R, R, and &.

12 Fho Ay My

.

The current through each resistoris /, I, I, and /.
I=1; I=1; 1=I; I=L+I,

R ﬂ3 Ry
_3H RyrRy

lel Rit Ry ¥Ry

e. You want to maximize the lifetime of the battery, and you are free to remove one resistor only. If all four resistors are equal, which one would you remove?

Justify your answer. P=[V=PR= V7§

-+

R

R~

2

I V.

d) l1"']3""'1
e y_1
7§ B ‘1 = EIRmH ]qg?u—'s'i (l" Q“/RD
>R C>‘3R3=ll'Q'1

To minmize power mayimize Rizy (P= “a/ﬂ) > remoye
either R; or Ry

f. A switch and a capacitor of capacitance C are added to the circuit. How long after closing the switch will it take to charge up the capacitor

. ’ Y et

to = 63.2% of its final value?

N - -9
R § g 4‘9": Rec_-,,C lv\(l -a*—\
T 3towon_"aeﬁc In(l-0.63)

/\ =
. = Reg( = Ry, C
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13. (25 points)

A magnetic balance is used to weigh objects. The mass m to be measured is hung from the center of the bar of length L suspended in a uniform
magnetic field B directed into the page. The battery voltage & can be adjusted to vary the current in the circuit. The horizontal bar is made of
extremely lightweight conducting material, and is connected to the battery by thin elastic conducting wire.

a) To measure the mass, an upward force must balance the downward force due to gravity.
What is this upward force? You can either use words or an equation for your answer.

magfetie force

b) Which poinr b, should be the positive terminal of the battery?

Need cuvient n the ba F’owm Jo %en@h-j— X X X X X

c) If the maximum terminal voltage of the battery is € _, what is the greatest mass mmax

-— s ’
that this instrument can measure? d@"' ILYG (4{) wa (a 0 m
-

TIbsn9s =g

M= Lows S = Ermer 115

d) Now suppose a long wire with current /, is placed at a ﬁxe; distance & directly below the magnetic balance.

How does this additional current affect the net magnetic field at the location of the bar?
(i.e., stronger, weaker, same, same but different direction, ...)

e) Derive an expression for the new maximum mass that can be measured in this situation.

mm“ gmxﬂ A1, I\

R
1,
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14. (25 points)
A long metal bar is pulled to the right at a steady speed perpendicular to a uniform magnetic field. The bar rides on parallel metal rails connected through a
resistor, so the apparatus makes a complete circuit. Ignore the resistance of the bar and the rails.

a) Calculate theZmagnitude of the emf induced in the circuit (in terms of the variables given in the figure below).

b) What is the direction of the current induced in the circuit?

¢) Compute the current through the resistor (in terms of the variables in the figure below).

X X X X

d) Repeat part c) with numbers: a A
bar resistivity =1.72-10* Q m
bar radius = 0.1 mm
bar length = 3.50 m

bar speed= 5.0 m/s o X b § . X

magnetic field=0.750 T

X X X X

X
X

o]
<y
I~
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